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48 1 Let f(x) = 9 — 22 be defined on the interval [0, 3]. Divide [0, 3] into 6 equal subintervals
W f(z) = 9 — 22 Wuilenduinfemuus [0, 3] wUswa [0, 3] sonilu 6 ¥aeges Az 119 fu

1.1 Find Az =
Az =

1.2 Let Ag = a1 + as + ... + ag where a; is an area of

i-th rectangle. Find a3 when rectangle’s height is
f(x) evaluated at the left endpoint of the inter-
val.
Swualh Ag = ay + ag + ... + ag Bio a; Aofiud
maagﬂﬁméamﬁuﬁﬂs}aﬁuﬁ i 9IMAN as Wiomvuali
ﬂ’JmQW@d?ﬂlm?ﬁlﬁmﬁuﬁ’]L‘fJ‘uﬂ"WJEN f(z) ﬁﬁgmﬂmmi’m
puge

az —

93 2 Let f(x) be defined as shown in the following the figure, and Ag = a1 + as + ... + ag where a; is an area
of i-th rectangle.
W f(z) MUUARINMN Uae Ag = a1 + as + ... + ag W9 a; AeNuNveIgUAmMALLIR W8N i

Y Fill >, <, or = in the box.
4 UAUAIDINUNY >, <, Y98 = AdbUTDIEARYL
N

f(x) 2.1 The height of the rectangle is f(z) evaluated at
the left endpoint,
doanugavesdwdeniuinduawes flz) o 90

; Uag9991uge
: b
; Ag / f(z)dx.
5 a b\ » X 2.2 The height of the rectangle is f(z) evaluated at

the right endpoint,
flomnugvesdvaeniudndunves f(z) s gavane
YAV

Ag /ab f(z)dz.
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9@ 3 From the given figure, find the following integrals in terms of A, B, ..., E, where each of them represents
the area of each region.
NwAslUll asnaBuiindadeluiluguves A, B, ..., E e A, B, ..., E unuiuiludagdiu

Y 31 / o(z) dz -

A

>

49 4 Let A(z) be an area under the graph f on [—1, z] 1% A(z) Fuiuildnsmuutag [—1, 2]

fl@) = (z - 1)

4.1 Find A(—1) A(-1) =

4.2 Given %[A(m)] = f(x) = (z — 1)%, Find A(z) Ax) = +C

4.3 Use the results from (4.1) and (4.2) to find C' and A(2)
Tinaawsann (4.1) waz (4.2) Wen C wag A(2) C=

4.4 The area under f(z) = (z — 1)? on [~1,2] is
wunlensm f(z) = (z — 1)? vudn [—1,2] A9 A )=

4.5 i/36(15—1)%#,—
’ dl' -1 -
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4@ 5 Evaluating the following integrals.
5.1 /(e"’” + secztanx) dx
5.2 /ac(l —2?%) dx
53 / (= 4 107)d

. —— XL

Vv

5.4 /(xd +2)72? dx
4@ 6 Evaluating the following integrals.
6.1 /(5 sin® z cos'/? z) dx
6.2 /20082(495) dx
6.3 / cos(6x) cos x dx
4@ 7 Evaluate the following integral using integration by parts. (BUALAIALUULUIEIL)

/:U\/1+xdx

4@ 8 Write the form of the partial fraction decomposition. (Do not compute the constants.)
sadsuguiuumsuenduavdiugos Taglidasruinaingga

2
8.1 3z +1 _
(x —2)(z2+1)

3_9,.2 _
8. T 20 +x — 2 _
z(z—1)(x+2)2

48 9 Evaluate the following integral.

2
/(x+1)(x2) dx

=

9@ 10 Evaluate the following integral.
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4@ 11 Write the integral form that represents the shaded area without evaluation.
lluBuNnSauanInIsuns Inglidasaiuaman

11.1 With respect to z.  lnensduilinsaLieu =

11.2 With respect to 5. lagn1suditnsaLiieu y

49 12 Lady Karakade draws and shades the region for Mr.Jeen-Hong as the following figure.
wdngeniseinanauazislnswlrduss asnmn

12.1 Find the shaded area in the integral form without evaluation.
e Tneuluguduiindalaglidasruanen

12.2 A grill pan can be made by revolving the shaded area about y-axis. Find the volume of the iron required
to make such grill pan using the cylindrical shell method in the integral from without evaluation.
dlovinsuyuusnaiusinsouwny y azldnsenzdmsutegns ssnuSuasveananildlunisudnnszne

v

Yagellmes Cylindrical Shell Tnglvineuluguduiindalaglidasdiuinuemn
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4@ 13 Find the volume of the solid when the shaded region is revolved about y = —1 using washer method
without evaluation.

29UTINATVOMTFUTANIINMTUUTNATIUTNTOUIEURTS y = —1 Tag38 washer Tnouluguduiinda
TnglifaeAruanan

4@ 14 Lady Karakade produces a water purifier by revolving the shaded region about the y-axis. Suppose that
this water purifier is used to bucket water before filling sands and gravels, find the volume of water.

wivdamazinarieiesnsai ImaﬁwmimuﬁuﬁlﬁwﬁauLmu y auniiiuedesnseshilugnihneuldnsamae
wluSinmsiuinle

Y
b

2--

1+ y = 2x2

0 3 > X

98 15 Express the following improper integrals in terms of appropriate limits.
geuduinfalinswuusielillveglusuainivunzay

+00 1
15.1 ——d =
/1 wx—2) "

+oo 1
15.2 / ——dx =
oo T2 43
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48 16 Determine if the given improper integral converges or diverges, and if converges, find its value.
WA Buinialinswuuiinvueligidnviegesn mngin asmeweBuiina

I

—dx

0o VvV

4@ 17 Determine whether y = €% is a solution of the differential equation 5" — i/ — 6y = 0.
ATNEBUN y = 3 1 TuMmeuTENNIIBRYILS v — ¢ — 6y = 0 W3sly

4@ 18 Solve the following differential equation.

2 ay
—cos“z— =0
Y xd$

48 19 Solve the following differential equation.

dy

2
d$+y

- 1+ e22

v d

U8 20 Let y(t) be the quantity of a chemical (gram) at time ¢ (minute) determined by d—y = —ky. Suppose that
the experiment starts at 1 PM. The initial quantity of chemical is 32 grams. After 5 minutes, 1 gram of chemical
remains.

° v a = o = = 1% o d al a v
ARl y(t) AeUsunaans (nsy) al nan t (W) Taq Feaonadefaunis d—‘? = —ky @UUAIN &4 LIAUIUAUNTT

1% '

naaedile 13.00 w. JUSIMANIAWY 32 NS Wanawuly 5 il Usinaasmieey 1 n3u

20.1 Find y(0) y(0) =

d
20.2 Solve the differential equation d—‘z = —ky.

20.3 From the initial value problem in (20.1) and (20.2), Find k.



